ROlINO. o,

FM-2101

Corporate Finance
(GUURER)
Master of Business Administration
(MBAH-11/MBA-13/12/10)
Third Semester, Examination, 2017

Time : 3 Hours Max. Marks : 60

Note : This paper is of sixty (60) marks containing three
(03) sections A, B and C. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given therein.
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Note : Section ‘A’ contains four (04) long answer type
questions of fifteen (15) marks each. Learners are
required to answer two (02) questions only.
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“The Financial Manager’s primary task is to plan for
the acquisition and use of funds so as to maximize the
value of the firm.” Do you agree with this statement ?
Also state the nature and importance of the finance
function in the modern business.
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Critically examine the Net Income and Net Operating
Income approaches to capital structure. Also explain

the factors determining optimum capital structure.
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“Financial Plan should be developed within the overall

context of strategic planning.” In light of this statement
explain the steps involved in preparing a financial plan.
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From the following details you are required to make an
assessment of the average amount of working capital

requirement of Hindustan Ltd. :

Estimate
Average for the
Particulars Period of )
Credit First Year
®)
Purchase of Material 6 weeks 26,00,000
1
Wages 15 weeks 19.50,000
Overheads :
Rent, Rates, etc. 6 months 1,00,000
Salaries 1 month 8,00,000
Other Overheads 2 months 7,50,000
Sales Cash — 2,00,000
Credit Sales 2 months 60,00,000
Average amount of stocks
and work-in-progress 4,00,000
Average amount of
undrawn profit 3,00,000
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If is assumed that all expenses and income were made

at even rate for the year.
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Section-B / Yis—4

(Short Answer Type Questions) / (T ITRIT U%)

Note : Section ‘B’ contains eight (08) short answer type
questions of five (05) marks each. Learners are
required to answer four (04) questions only.
Answer of these questions must be restricted to two
hundred fifty (250) words approximately.
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Briefly discuss any four (04) of the following :

FfoRed # 9 Bl IR W |ey o g9l HI -
1. Inventory Control.
why A |

2. Assessement of Credit risk.
FUT SIRIH BT Thor |

3. International capital investment analysis.
IR Yot fyaer fageror |

4. Strategic Financial Planning in the Public Sector.
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5. Determinants of Dividend Policy.
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Motives underlying Mergers and Acquisitions.
faer ok afferrgor # afdf-ifed URoM |
X Ltd. is implementing a project with an intital capital
ontlay of ¥ 7,600. Its cash inflows are as follows :

Years Cash Inflows (%)
1 6,000
2 2,000
3 1,000
4 5,000

The expected rate of return on the capital invested is
10%. Calculate the discounted payback period of the
project. Present value of T 1 @ 10% is 0.909 for first
year, 0.826 for second year, 0.751 for third year and
0.683 for fourth year.
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8. Calculate the level of earnings before interest and tax
(EBIT) at which the EPS indifference point between
the following financing alternatives will occur :

Equity Share Capital of ¥ 6,00,000 and 12%
Debentures of ¥ 4,00,000.

Equity Share capital of ¥ 4,00,000, 14% Preference
Share Capital of ¥ 2,00,000 and 12% Debentures of
% 4,00,000.

Assume the corporate tax rate is 35% and par value of
equity share is ¥ 10 in each case.
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THAT 3 YNl € 4,00,000, 14% YAIRBR 37 Yol
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Section-C / YVs—TT

(Objective Type Questions) / (@IS T)

Note : Section ‘C’ contains ten (10) objective type
questions of one (01) mark each. All the questions
of this section are compulsory.

A-40 P.T.O.



[8] FM—2101

dlc ;. @ve T H 9 (10) TS W @ W 2 | U@

T B forw Ua (01) 3o FEiRd B 1 39 wWve &
Y oo afard € |

Write True/False against the following :

fr=foRed @ e 9 /31 forfRau

1.

An investor who is willing to take risk is called as risk-
netutral investor.

g o WRe9 oW @ dIR BT § S
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Financial management refers to financial decision-
making.

fefrar weg foxfra ol o @1 & 2|

Financial leverage depends upon the operating
leverage.

foxia Siets, TReTeH Stiae W 1R oRar 8

Fill in the blanks :

ﬁzﬂwﬁﬂﬁ{ﬁm
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.......... exposure requires various marketing, production
and financial management stratetgies to cope with the
risks.

e SR / STEEdT § SRgdl @ fues @ forg
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Return on Capital Employed is also known as ........
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Indicate the correct option :

el fdded o1 g1 B -

6.
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The rate which equates the present value of the cash
inflows to the present value of the cash outflows is :

(@) Accounting Rate of Return

(b) Payback Period

(c) Internal Rate of Return

(d) Profitability Index

I8 R W Abe YR b A I Bl ADY
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Due to which of the following answer-option, Debt
financing is termed as a cheaper source of finance ?

(@ Time Value of Money

(b) Rate of Interest

(c) Tax-deductibility of Interest

(d) Dividends are not payable to lenders
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In Capital Budgeting, the relation between Terminal
Value (T,) and Present Value (P,) is given by which
of the following equation ?

@ T,=P, 1+r

n

(b) T,=P, 1+r"

n

) T,=P,/ 1+r

(d P,=T, 1+r "
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If the current ratio and liquid ratio of a firm are 2.2 and
0.8 respectively and its current liabilities is ¥10 lakhs,
then the value of stock held by the firm will be :

(@ 6,400

(b) 8,000

(c) 10,000

(d) None of the above
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10. Which of the following is the basic requirement for a
firm’s marketable securities ?

(a) Safety

(b) Yield

(c) Marketability

(d) All of the above
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